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Lt HIIIAL =2 AL HOIS2cIE0 SAE Z2 A0 SAIE F2AMES DH6tAI2.

1748

L ®¥dEY SIOIZOtE At 285 L= 60| O A4t 250 S8 2 (M0 A2 K54
A9 R 80| 39%E X Wol= ) (8.8% K5 AHA)(CALCIUM HYPOCHLORITE,
DRY or CALCIUM HYPOCHLORITE MIXTURE, DRY with more than 39%
available chlorine(8.8% available oxygen))

Ct. 280 M2 A8H S 8
ct. BIISS 2
O oz =2 INT=RE=

15. 88 AH &

b MG FAZ A0 28 A HEARS

Lt. soiststsZ 220l 28 7 A HEels

Ch. fIgSotd 2ol 28t A 15 XOtS A& F 50kg

ch. Hol=2tclg8ol 28 Al HEHS

Ok JIEH =W 2 2A2-0 248 A

=UWAl
dRERIIGSE ALY Heels
=2l

0222l H2(0SHA 78) Heels
0= 228 2(CERCLA 7%) 4.53599 kg 10 Ib
Ol=2clE 2 (EPCRA 302 &) Heels
0= 22| F 2 (EPCRA 304 &) HEHS
Ol=2cl & 2(EPCRA 313 7&) Heels
D=2cld2(ZHEEEAEE) HEHS
D=2 HB(ASESEASE) Hgels
D=2cld2(2ECISABNEE) dHLels
EUEREE(HEERZD O: R8Xn; R22R31C; R34N; R50
EUZREE(REER) R8, R22, R31, R34, R50
EU 2REE(dEER) S1/2, 826, S36/37/39, S45, S61

16. 1 tel 1A
JhXzel &1
International Chemical Safety Cards(ICSC)(http://www.nihs.go.jp/ICSC)
ECOTOX Database, EPA(http://cfpub.epa.gov/ecotox)
IUCLID Chemical Data Sheet, EC-ECB

ol

Corporate Solution From Thomson Micromedex(http://csi.micromedex.com)

AASSEY, M ST

TOXNET, U.S. National Library of Medicine(http://toxnet.nlm.nih.gov)

The Chemical Database, The Department of Chemistry at the University of

Akron(http://ull.chemistry.uakron.edu/erd)
ECB-ESIS(European chemical Substances Information System)(http://ecb.jrc.it/esis)
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